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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1)
#define mem(a,b) memset(a,b,sizeof(a))

using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();
lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;
inline LL read LL
LL t=0;bool sign=false;char c=getchar();
lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"]||c=="\r"')c=getchar();
c,

inline void write(LL x
register char c[21],len=0;
Ix putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len|=x%10,x/=10;
len)putchar(c/len--+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5;

struct Left Heap
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int root MAXN];
bool del[MAXN];
struct Node
int id,val,dis,ch ;
bool operator < (const Node &b)const
val<b.val| | (val==b.val&&id<b.id);

node |[MAXN | ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n

node(i].id=root|[il=i,node[i]l.val=alil;

int find root(int x x==root[x|?x:root|[x/=find root(root|(x]);
void merge(int &k,int k1,int k2
'k1||'k2 k=k1|k2,void();

node k2 <node|kl|)swap(kl,k2);
merge(node|k=k1l].ch ,hode[kl].ch ,k2);

node|node|k].ch .dis<node[nodek].ch .dis
swap (node k! .ch ,hode k]| .ch ;
node/ k| .dis=node[node[k].ch .dis+1;

void merge(int x,int y
del[x]||delly ;
int rt,pl=find root(x),p2=find root(y);
pl!=p2
merge(rt,pl,p2);
root|[pl =root|/p2|=rt;

int top(int x
del|x -1;
node|find root(x)|.val;

void pop(int x

del|x ;
int rt,p=find root(x);
merge(rt,nodelp].ch ,node[p].ch ;
root|/p/=root/node/pl.ch =root/node/p|.ch =rt;
del|p|=true;
heap;
int a/MAXN];
int main

int n=read int(),m=read int(),opt,Xx;
_rep(i,1,n
alll=read int();
heap.build(a,n);
m__
opt=read int(),x=read int();
opt

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:jxm2001:
2020/07/09 ooo

15:52

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%B7%A6%E5%81%8F %E6%A0%91&rev=1594281156

case 1:
heap.merge(x,read int());
break;

case 2:
enter(heap.top(x));
heap.pop(x);

}

return 0;
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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>

#include
#include
#include
#include
#include
#include
#include
#include

<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>

#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
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#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"||c=="\r")c=getchar();
c;

inline void write(LL X
register char c , len=0;
I'xX putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5;
struct Left Heap
int root[MAXN];
struct Node
int id,val,dis,ch :
bool operator < (const Node &b)const
val>b.val| | (val==b.val&&id<b.id);

node[MAXN] ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n
node|i].id=root|[il/=i,node[i].val=alil,nodeli].ch =node[i].ch =node[i].d
1s=0;
int find root(int x x==root|x!?x:root|[x|/=find root(rooti(x|);
void merge(int &k,int kl,int k2
Ikl| | k2 k=k1l|k2,void();

node| k2| <node|kl|)swap(kl,k2);
merge(node|k=k1l].ch ,hode[kl|.ch ,K2);

node/ node|k].ch .dis<node[nodelk!.ch .dis
swap (node k! .ch ,hode[k].ch :
node| k] .dis=node[node(k].ch .dis+1;
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int merge(int x,int y
int rt,pl=find root(x),p2=find root(y);
pl==p2 -1
update(pl);update(p2);
pl=find root(x),p2=find root(y);
merge(rt,pl,p2);
root| pl/=root|[p2]|=rt;
node|rt].val;
void update(int rt
int temp,Root;
merge(temp,nodert].ch ,hode[rt].ch ;
node/rt!.val>>=1;node/rt|.ch =node|rt]|.ch =node[rt].dis=0;
merge (Root, temp, rt);
root|Root |=root|rt!=Root;
heap;
int alMAXN];
int main
int n,m,Xx,y;
~scanf("%sd",&n
_rep(i,1,n
alil=read int();
heap.build(a,n);
m=read int();
_rep(i,1,m
x=read int(),y=read int();
enter(heap.merge(x,y));
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